Test chart 3 for color rendering: metameric colours A and P4000; offset prinfCMYO0); rgb—>rghy
Series:

central
y4
A/P4000

10: ROOY_075_059  11:R50Y_075_059 12:Y00G_075_059 13:Y50G_075_059 14:GO0OB_075_059 15:G50B_075_05p 16:BOOR_075_059 17:B50R_075_059  18=01: ROOY_075_030

grey

g
A/P4000

Lab*N0=17.8 , 1.3, 0.7
Lab*W0=95.3 , 0.3 , -4
37: NW_00Q, 38: NW_013 39: NW_025, 40: NW_03g, 41: NW_050, 42: NW_063 43: NW_075, 44: NW_08g, 45=37:NW_10f  Lab™N1=17.7,1.0,0.7

Lab*W1=95.3 , 0.6 , -5




Test chart 3 for color rendering: metameric colours A and P4000; offset prin(CMYO0); rgb—>rghe
Series:

central
y4
A/P4000

10: ROOY_075_050  11:R50Y_075_05Q 12:Y00G_075_059 13:Y50G_075_059 14:G00B_075_050 15:G50B_075_050 16:BOOR_075_050 17:B50R_075_050  18=01: ROOY_075_030

grey

g
A/P4000

Lab*N0=17.8 , 1.3, 0.7
Lab*W0=95.3 , 0.3 , -4
37: NW_00Q, 38: NW_013 39: NW_025, 40: NW_03g, 41: NW_05Q, 42: NW_063 43: NW_075, 44: NW_08g, 45=37:NW_10Q ~ Lab™N1=17.7,1.0,0.7

Lab*W1=95.3 , 0.6 , -5




Test chart 3 for color rendering: metameric colours A and P4000; offset prinCMYO); rgb—>rghid

Series:

central
y4
A/P4000

10: ROOY_075_0507 11:R50Y_075_0507 12: YO0G_075_0505 13:Y50G_075_0503 14:G0O0B_075_05Q; 15: GS0B_075_05Q; 16: BOOR_075_05QF 17:B50R_075_050; 18=01: ROOY_075_050Qy

37: NW_000

*

d

38: NW_013

%

d

39: NW_025

*

d

40: NW_038

*

d

41: NW_050

*

d

42: NW_063

*

d

43: NW_075

*

d

44: NW_088

*

d

45=37: NWﬁlOO&

grey

g
A/P4000

Lab*N0=17.8, 1.3, 0.7
Lab*W0=95.3, 0.3, -4
Lab*N1=17.7,1.0, 0.7
Lab*W1=95.3, 0.6 , -5




Test chart 3 for color rendering: metameric colours A and P4000; offset prinfCMYO0); rgb—>rghie

Series:

central
y4
A/P4000

10: ROOY_075_050; 11: R50Y_075_050; 12: YO0G_075_0507 13:Y50G_075_0507 14:G0O0B_075_050; 15: GS0B_075_050Q; 16: BOOR_075_050F 17:B50R_075_050; 18=01: ROOY_075_05Qy

37: NW_000%,

38: NW_013%,

39: NW_025,

40: NW_038?%,

41: NW_050%,

42: NW_063*,

43: NW_075%

44: NW_088"%,

45=37: NWﬁlOOg

grey

g
A/P4000

Lab*N0=17.8, 1.3, 0.7
Lab*W0=95.3, 0.3, -4
Lab*N1=17.7,1.0, 0.7
Lab*W1=95.3, 0.6 , -5




